
 1
97

4,
50

 

 1
50

1,
50

 

 195 

 161,45 

A

A

 108 

 3
50

 

 350,78 

SECTION A-A

POS QTY. ArtNo BENÄMNING SPECIFIKATION SPECIFICATIO
N WEIGHT (kg)

15 4 M8 X 25

14 4 M8 X 16

13 4 8

12 8 35589 Mutterstycke Kedja M8 0.00

11 2 Säkerhetsskruv M6 El lucka M6 X 25 - 4.8

10 1 35290 El-lucka stolpe Stortavla SM 0.82

9 4 RTS 4,2 x 16 A4 ST4.2 X 16 - C

8 1 Lock Bigstolpe 350 x 350 0.49

7 8 36119 Snabbmutter 4,2 Wurth 050011667 0.00

6 2 Låda för Zaptec PRO Laddstolpe PRO 0.29

5 1 36118 Bigstolpe Laddstolpe 6.36

4 1 36109 Saferoad Tätningshuv 60 300 0060 0.05

3 1 36115 Stolpfot för Big Laddstolpe 2.58

2 1 36110 Saferoad Låskil 60 301 0061 0.07

1 1 36112 Saferoad Belysningsfundament 60-
500 600 505 23.26

Q

D

C

B

A

@

R PSTUV

D
en

na
 h

an
dl

in
g 

få
r e

j u
ta

n 
vå

rt
 m

ed
gi

va
nd

e
ko

pi
er

as
. D

en
 få

r e
j h

el
le

r d
el

gi
va

s a
nn

an
 e

lle
r 

el
je

st
 o

be
hö

rig
en

 a
nv

än
da

s. 
Ö

ve
rt

rä
de

ls
e 

hä
ra

v
be

iv
ra

s m
ed

 st
öd

 a
v 

gä
lla

nd
e 

la
g.

Zo
ne

 S
ys

te
m

s A
B

Th
is

 d
oc

um
en

t m
us

t n
ot

 b
e 

co
pi

ed
 w

ith
ou

t o
ur

 w
rit

te
n 

pe
rm

is
si

on
,

an
d 

th
e 

co
nt

en
ts

 th
er

eo
f m

us
t n

ot
 b

e 
im

po
rt

ed
 to

 a
 th

ird
 p

ar
ty

 n
or

 
be

 u
se

d 
fo

r a
ny

 u
na

ut
ho

riz
ed

 p
ur

po
se

. C
on

tr
av

en
tio

n 
w

ill
 b

e 
pr

os
ec

ut
ed

. Z
on

e 
Sy

st
em

s A
B

1:10

A36120

GENERAL TOLERANCESURFACE TREATMENT

1(1)
FORM

A3

TITLE

SHEET WEIGHT IN KG DRAWING No.

SCALE

REV.

34.29

2021-12-14

Laddstolpe
ZONE ART. NO

RE&GO Zaptec PRO

DESIGNED DATE DESIGNED BY APPROVED DATE APPROVED BY

 CAs 2022-04-28 CAs
E

020-89 93 35
info@reandgo.se
Lastköpingsgatan 5 Vadstena


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Section View A-A


